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AlE B = BE| WASHE | XHi2H | s |
5| 20|B=R(BRA ) 10 20,627 2,291 (2,291)
5| 21| B FEBRFHEHE(BA~3AD) 330,000 327,709
5| 26|LLFE#RE (5 A %) 8 3,400 3,400 324,309
5[ 31|75y I7AIL, DU —R7ry ML 7 652 652 323,657
6| 15| TV A—A2 K 7 2,780 1,390 322,267
6| 25| L F/KERK (BA ) 10 12,430 1,381 320,886
6| 28| LLEETE (6 A %) 8 3,400 3,400 317,486
6| 28| KTiHm{X 10 3,520 391 317,095
6| 29| ERHK (6 A5 10 14,170 1,574 315,521
7| 1| HHSEEBRBEDERFE—EBERM (110,000) 205,521
7| 20| BERHK(7A5) 10 16,245 1,805 203,716
7| 26| WLBSEE (7 A5 8 3,400 3,400 200,316
7| 26| L FKEHK (6AH) 10 10,890 1,210 199,106
8| 20[ERX(8A %) 10 18,238 2,026 197,080
8| 25|77 1 LR 7 470 470 196,610
8| 25| L TKER(7AS) 10 12,045 1,338 195,272
8| 26|LLBE#E (8 A 53) 8 3,400 3,400 191,872
8| 31| TV A—1 K 7 2,780 1,390 190,482
I 17| R—ILRU-EHIARY-T7AILK 7 935 935 189,547
9| 21|BERHK(9A ) 10 18,269 2,029 187,518
9| 27| LLBEFRE (9 A 53) 8 3,400 3,400 184,118
9 27| L FKEHK (8AH) 10 12,045 1,338 182,780
10| 20[EKK (108 %) 10 17,008 1,889 180,891
10| 25| L FKERK (9B 7) 10 10,890 1,210 179,681
10( 26|LLFE#E (10A 5) 8 3,400 3,400 176,281
M 19|EXK(11AS) 10 19,076 2,119 174,162
11| 25| L F/KEK (10 ) 10 12,045 1,338 172,824




Ale m = BE| ARE | xhem | Sl |BAEIE
11| 26| LLUBS#FE (11 A7) 8 3,400 3,400 169,424
11| 28[/8Va AR 7 79,778 39,889 129,535
12| [TV A—A2H K 7 5,491 2,745 126,790
12[ 20| B (12A %) 10 26,168 2,907 123,883
12| 27| WLBS#FHE (128 5) 8 3,400 3,400 120,483
12| 27| L FKEK(11AS) 10 11,660 1,295 119,188
12| 27| KT 34X 10 2,080 231 118,957
12| 27|4T:H 4K 10 4,080 453 118,504
12| 27|4T:H 4K 10 6,120 680 117,824
121[BRRK AR 10 45,894 5,099 112,725
11 25| L FKER(12A5) 10 12,045 1,338 111,387
1] 26| 774U 7 470 470 110,917
1| 26(ILE#RE (1 A7) 8 3,400 3,400 107,517
1| 27 (kTR 10 5,640 626 106,891
1| 27|47 84K 10 3,840 426 106,465
2[18|BRHK(2A ) 10 42,361 4,706 101,759
2( 25|97 DY -2 T I7AILR 7 686 686 101,073
2| 25|F) A=A OKK 7 5,780 2,890 98,183
2| 25| EFKEKR (1A 10 10,890 1,210 96,973
2| 28| LLBS#E (2R 53) 8 3,400 3,400 93,573
2| 28|4T:H X 10 5,640 626 92,947
2| 28|KTim{X 10 3,960 440 92,507
2| 28|kTi@{K 10 5,940 660 91,847
2| 28| kT4 10 4,080 453 91,394
3| 18|BERHK(BAM) 10 41,944 4,660 86,734
3| 23|07 774 )L -aE— R 7 1,878 1,878 84,856
3| 25| L F/KERK (2A5) 10 9,757 1,084 83,772
3| 28|77 A LAt X 7 6,558 6,558 77,214
3| 28| LA (3A %) 8 3,400 3,400 73,814
3| 28| T3 10 4,080 453 73,361
3| 28|4T:H K 10 6,120 680 72,681
3| 28| T 10 6,120 680 72,001
3| 28| 4Tl K 10 4,200 466 71,535
3| 29| AR (1147 AS) (FE1HEELTRTRHRH)| 8 25,300 0 71,535




MR | BBEHE

m = IHE| IRA®EE | XHEE metE | 225245

LASATRIE BEIR(5A~3A) 8 10,230 10,230 61,305
TV B—A2Y 7 5712 2,856 58,449
1| R—LTUR £ 7 9,133 9,133 49,316

op

A 220,000 656,150 170,684 49,316




